
PROBLEMAS DE QUÍMICA

RED-OX       

EXEMPLO 2: Determina o número de oxidación dos elementos que forman as seguintes substancias: 

+1  −2       +1   −1       +1    −1       +2     −1         +2    −2      +1   +6 −2       +6   −2          +1  +5 −2       +5  −2         +1  −2       −2 

H2O,  HCl,  NaCl,  ZnCl2,  ZnO,  H2SO4,  SO4
2−,  HNO3,  NO3

−,  H2S,  S2−, 
+1   +7    −2          +4    −2         +5  −2         +5   −2          +1  −1      +5  −1       +3 −1       +4 −2           +3    −2            +6     −2   

KMnO4,  MnO2,  VO3+,  P4O10,  LiH,  ICl5,  NF3,  SO3
2−,  S2O4

2−,  Cr2O7
2−.
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